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Q2.

Q3.

Q4.

A constant potential difference v is applied to conductor of length | and radius r. If wire is
stretched so that length of wire becomes doubled then drift speed is

(a) Halved (b) Unchanged

(c) Doubled (d) Quadrupled

In figure 1,V —Va =12 V and in In figure 2 ,Va — Vg = 15 If same battery\isused'in both the
circuits, then choose the correct option
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Fig 1 Fig 2
(a)e=12.6V (b)£=13.2V
(c)e=13.6V (d) £=14.0V

An electric circuit is shown. In the circuitthere are threecelements'X, Yiand Z. The high
potential point.issshown by positivesign and low potential point-is shown by negative sign.
In one coulmn different conditions are given and in_other calumn effects are given, match
them properly. Any of .the circuit elementis‘either battery or resistor.

Column-| Column-li
(A) If X(ista resistance (p) current will flow clockwise
(B) If X is.abattery (g) current will flow anticlockwise
(C) If Y is awresistance (r) Z will act like a load
(D) If Y is a battery (s) It is not possible to decide

whether Z is a battery

A battery is of emf E is being charged from a charger such that positive terminal of the
battery is connected to terminal A of charger and negative terminal of the battery is
connected to terminal B of charger. The internal resistance of the battery isr.-

(a) potential difference across points A and B must be more than E

(b) A must be at higher potential than B

(c) In battery, current flows from positive terminal to the negative terminal

(d) no current flows through battery
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Two long cylindrical metal tubes stand on insulating floor. A conductor oil is filled between
plates. Two tubes are maintained with potential difference V. A small hole is opened at
bottom then
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() Reading of ammeter decreases

(b) Reading of ammeter increases

(c) Reading of ammeter remains constant

(d) Current in circuit decreases with constant rate

The terminal potential difference of a cell, when short circuited is.-
(a) E (b) E/2 (c) zero (d).E/3

Inside battery

(a) Current flows from —ve to +ve terminal when it acts\as a source.
(b) Current flows from —ve to +ve terminal when it acts as a load.
(c) Current flows from +ve to -ve terminal when-it acts as a source.
(d) Current flows from +ve to.~ve terminal when it acts as a load.

The current -voltage<variation for a’wire of copper of length.(L).and area (A) is shown in fig.
The slope of the line-will'be —

—

| —
(@) less if experiment.is‘done at'a higher temperature
(b) more if awire ofsilver,of same dimensions is used
(c) will-be doubled if the lengths of the wire is doubled
(d) will\be-halved\if the length is doubled

An energy source will supply a constant current into the load if its internal resistance is —
(a) equal to the resistance of the load

(b) very large as compared to the load resistance

(c) zero

(d) non-zero but less than the resistance of the load

In a given electric circuit the potentials at the pointsa, bandcare30V,12Vand2V
respectively. The current through resistors 10,20 and 30 are -

200
100 b
a
C
300
(a) 1,0.4,0.6 (b) 2,0.8,1.2
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(c)0.6 A, 04 A, 1A (d) None of these

In the adjoining diagram R; =10Q, R, =20, R; =40Q, R, =80Q and V, =5V, Vg =10V, V.
=20V, Vp =15 V. The current in the resistance Ry will be—
B

R: 2

A ——Avn-

(a) 0.4 A towards O
(b) 0.4 A away from O
(c) 0.6 Atowards O
(d) 0.6 A away from O

Current in 3Q resistance is

l

@) 1A (b)1/4 A () 5/7 A (d)A5/1 A

Find the-potential difference Vc — Vp in volt for the circuit shown in the figures
c 1 wviv 10 1V1V 10

D
1A

1 1Q

1A 1A
(a) 1V
(b) 3V
(c) 6V
(d) -6V
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Answer Key
Q.1 a Q2 b Q4 a,b,c/Q.b5 a Q.6 c
Q.7 a,d Q8 c Q9 b Q.10 a Q.11b
Q.12 c Q.13 ¢

Q.3 (A)—(p); (B)=(s); (C)—(a,r); (D) =(s)
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